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ol 2HH| 180,990 162,631 18,359
101 elAb| 180,990 162,631 18,359
03 SIAHL2=2 X2 180,990 162,631 18,359
OANEAR BX(5Y) 180,990
ollea 134,450
<D= 2,191,900 & x4 H 12 105,212
<Lp&Z 2,436,450 1B 128 29,238
I JepNE = 5,990
<IP>&F 77,9783 +152+4H 4,679
<Lp&F 87,3473 x152x1H 1,311
oY EZOHI 11,205
<IpB&F 2,191,900 3 x50%*4ZH+23| 8,768
<LP>&Z 2,436,450 3 x50%* 15 +23| 2,437
oM REAH+E 8,160
<Ip&T 140,000 x4 H* 123 6,720
<LB&F 120,000& 18 *12& 1,440
otEE 5,280
HH <> Xt 40,0002 *58*12& 2,400
SMAHA 20,000&+3F 128 720
SMAHS 60,0002 *3H*12& 2,160
oY 50,0002« 1E*12& 600
oAIZt|2R+Y 4,493
<Ip&= 14,6213 x4 B +60A| 2+ 3,510
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= 1,047,375
= 5,226,000
= 3,436,358

SEXNCAIY S (sElYSA/ = - &) 9,499,39% 11,435,642 A1,936,247
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= 2,500
= 2,500
OMSXTHTs HSXY 8,800
= 4,400
= 4,400
OXNET=Y LIS 1,600
= 800
= 800
04 ZRHISHOIH] 17,400 13,400 4,000
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308 AAIHHSOIA 66,000 27,000 39,000
01 AR SHHBLEEES 66,000 27,000 39,000
Os&EUSSFE g&ds N 66,000
403 AXIEHHSAH=01E 20,000 23,000 A3,000
01 TtXIEMA =2 xR 20,000 23,000 A3,000
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IASEE UM Y AE A 315,000 450,000 /135,000
403 MXIEHSXH=01H 315,000 450,000 /135,000
01 AXSHHG=EX 315,000 450,000 A135,000
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o=t 2,016
oYz 4,779
Om=g| 3,150
202 it 12,161 3,512 A1,351
ENE] 12, 161 3,512 A1,351
OSZEXSTAY 81 Y= 12,161
=ezsER 434,239 66,390 367,849
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= 234,239
SEXC JIBE8 (S22 HT) 400,000 0 400,000
bl 200,000
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2 8,500
= 8,500
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= 82,500
401 AlZEI LR TH| 63,200 0 63,200
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01 A&t 63,200 0 63,200
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2 31,600
= 31,600
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W= SEEA EL 8,876 8,876 0
201 k=& 4,046 4,046 0
02 5= 4,046 4,046 0
OsZ2= 29 4,046
206 =4 3,950 3,950 0
01 M=H 3,950 3,950 0
O=sd=2stt dAIM= 2,950
OsZEE3ME 2208 23 1,000
301 Et2d= 880 880 0
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=4 400
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202 04l 7,200 8,000 A800
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OAOIHEE EEFL 3,600
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= 699,500
=S 912,511
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01 HAHHBAEXS 312,500 341,000 /28,500
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-1091 -




S A

Hu: SEXCAY BASH(SYHYSM/ 5 - SE)
SE HEINEELIEEY (=E LD
- _ _ poIE [
SN - HB - CRI(3H) - HIRAR - BES Of v e HI DS

| = 372,500

UL Al L BIL KR (XR) 90,000 81,000 9,000
2 90,000

308 XHXISHHISOIR 90,000 81,000 9,000
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= 9,000
= 9,000
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2 12,600
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o EFIHI 2,240, 1903 +50%23|x7H 15,682
oSl 50,9523 12&+7Y 4,280
o Xt==E 81,4493 1227 6,842
oJe:1:] 1,750,000 1,750
ONE ] 468,300« 18 *43] 1,874
olll=H| 200,0002+6H 1,200
OdfleDis-242e| S(188 01%F-99) 290,159
=== 2,047,030& 9122 221,080
osdZz=d 10,147,000 10,147
oXREHE 140,000 x9E*12& 15,120
oAgre 50,0002 +8EH*12& 4,800
otEE 4,560,000& 4,560
0EE RO 2,047,030 +50%+23| x9S 18,424
o Xt=g 8,118,000 8,118
=28+ 5,560,000 5,560
o0{l 750,000 750
olll=8l 200,000 +8H 1,600
O=)|HRS-NKEX(1Y) 33,124
oJl=s 2,143,600& 18122 25,724
oIz 1,719,000 1,719
oA R&E 140,000 x1E*12E 1,680
0HEFIHI 2,143,6003+50%23|x 1 2,144
odsEd=E 10,0002 *42]*1H 440
o Xt==E 76,3003 122+1& 917
oj0:1:] 500,000 500
OsIAus-sI etz 19) 42,618
oJles 2,643,6603x18*12E 31,724
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SA: se)l2 DS S
Ha: BY2AAY| (SIS 0lHsYDS]) (JIEHIIE
SC RIS (Sr9): &)
- < - bSEL ~
S - ZE - SRI(S1) - HRAY - BAS Ol &k e HIRE2
REESEEEs, 2,119,000 2,119
X PR A CH2 120,002 %12+ 122 1,440
ofI 84 50,0002+ 1%+ 122 600
0IHERY 1,200,002 1,200
=EESTI 2,643,660 2 450%+251 1 2,644
IR 140, 00024 %431 %1% 560
oS RS 1,131,000 1,131
o0t 1,000,000 1,000
olll =l 200,002 1< 200
o= 37,720 40,688 £2,968
o= 2| 37,720 40,688 £2,968
201 Er2Y| 18,080 9,982 A1,852
01 ArRE2t] 16,668 18,520 A1,852
OEIETE=1] 8,640
Om=| 270
== 3,744
oYz 4,014
02 32| 1,412 1,412 0
OB2R2 2 AA S 1,412
202 O1H| 14,360 15,956 A1,5%
ENE] 14,360 15,956 A1,5%
SN BEYS = 14,360
203 &2 =7 5,280 4,800 480
ERESEESI] 5,280 4,800 480
Olli=ingn 2o 5,280
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